QOQ Gevlpp

Soft QICD

3 10 E T | ' | | = 2
e = 35
= - Cross section(Mx < 200 Ge\f) 13

a — 13
o' L -5

= N
— M =]
L —
e ~ ™
10" E =15
= 3=
= (o2

1072 = =
- 13
N 3
10 — = m
— Jo
— — O
— — ™M
- <
>
10" = m ALCE =%
—  --3-- Herwig 7.1.3 default <
— —— Pythia 8.301 default . =
107> =4 Sherpa-1.2.3-default - ¢ ---------------------------------------------------- = ?3_
= 45
N =15
1n76 == | | | | | | | | = -
2 & =2

o -

-

= - i

c 1 1

o |

5 = * ]

o R e, _

0.5 —0.5

900.5
sgrt{s} [GeV]



	Contents
	Page 1


